e

N8, 100m2

overzicht elementen:

N1:
N2:
N3:
N4:
N5:
NG6:

N7

N8:

N7, 40m

% A .~ Schetsplan

N8, 100m2

N7, 50m

N8; 120m2

147x10m= 1470m2. / L13

185m (gem.)x 10m= 1850m2 / L13
150x10m+ 1500m2, / L13
185m(gem) x14m= 1190m2 ,/ G2
155m (gem) x10m = 1550m2 / L13
140x4m= 560m2 / L1

: 4m x (40m+50m) = 360m2 /L1

( 20x5m + 25x4+ 25x4,8m) =

100 + 100 + 120= 320m2 / G2
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Legenda

Perceelnummer
Perceel

= bestaande_beplanting

MMM
S

& wows = aanplant singel/ struweel, L1

= aanleg natuuroever, L13

I:I = botanische hooilandrand, G2

schaal: maatlat is bepalend
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